

19

الف) از نقطه $A(-2, 4)$ عبور کند: $-4x + 18$
 $-4x + 18 = y$
 $-4(-2) + b = 2 \rightarrow 8 + b = 2 \rightarrow b = -6$
 $-4x - 6 = y$
 $-4x - 6 = -1 \rightarrow -4x = 5 \rightarrow x = -\frac{5}{4}$
 $y = -4(-\frac{5}{4}) - 6 = 5 - 6 = -1$
 $y = -1$

ب) $2y + 4x = -1 \rightarrow 2y = -1 - 4x \rightarrow y = -\frac{1}{2} - 2x$
 $y' = -\frac{3}{2}(-\frac{1}{2}) + 14 = \frac{3}{4} + 14 = \frac{59}{4}$
 $y' = -3x + 14$
 $\frac{59}{4} = -3x + 14 \rightarrow -3x = \frac{59}{4} - 14 = \frac{59}{4} - \frac{56}{4} = \frac{3}{4} \rightarrow x = -\frac{1}{4}$
 $y = -\frac{1}{2} - 2(-\frac{1}{4}) = -\frac{1}{2} + \frac{1}{2} = 0$
 $y = 0$

ج) فاصله تا $A(-2, 4)$: $\sqrt{(x+2)^2 + (y-4)^2}$
 $\sqrt{(3)^2 + 14} = \sqrt{9 + 14} = \sqrt{23}$
 $\sqrt{23}$
 $\frac{1}{\sqrt{23}}$
 $\frac{1}{\sqrt{23}}$

معادله خط و مساحت این دو مستطایز: $4x + 4y = 18 \rightarrow 4x + 4y - 18 = 0$
 $4x + 4y = 18 \rightarrow x + y = \frac{9}{2}$
 $x + y = \frac{9}{2}$
 $d = \frac{|18|}{\sqrt{16 + 16}} = \frac{18}{\sqrt{32}} = \frac{18}{4\sqrt{2}} = \frac{9}{2\sqrt{2}}$
 $\frac{9}{2\sqrt{2}}$

$\begin{cases} 3x - 2y = 1 \\ 3y + 2x = 3 \end{cases} \rightarrow \frac{|ax+by-c|}{\sqrt{a^2+b^2}} = \frac{|a'x+b'y-c'|}{\sqrt{(a')^2+(b')^2}}$
 $\frac{|3x-2y-1|}{\sqrt{9+4}} = \frac{|3y+2x-3|}{\sqrt{9+4}}$
 $|3x-2y-1| = |3y+2x-3|$
 $3x-2y-1 = 3y+2x-3 \rightarrow x-5y+2=0 \rightarrow x=5y-2$
 $3x-2y-1 = -3y-2x+3 \rightarrow 5x+y=4 \rightarrow x=\frac{4-y}{5}$
 $x = \frac{4-y}{5}$

$\tan \alpha = \left| \frac{m-m'}{1+mm'} \right| \rightarrow y+3x=3 \rightarrow m=-\frac{1}{3}$
 $y-2x=0 \rightarrow m'=2$
 $\tan \alpha = \left| \frac{-\frac{1}{3}-2}{1+(-\frac{1}{3})(2)} \right| = \left| \frac{-\frac{7}{3}}{1-\frac{2}{3}} \right| = \left| \frac{-\frac{7}{3}}{\frac{1}{3}} \right| = 7$
 $\alpha = 81^\circ$

$$B \begin{vmatrix} -\delta \\ \epsilon \end{vmatrix}$$

$$A \begin{vmatrix} \mu \\ -\nu \end{vmatrix} \rightarrow \sqrt{4\mu + 3\nu} \neq 10$$

$$(ans) = \begin{vmatrix} -\frac{\delta + \mu}{\nu} \\ \frac{x + \epsilon}{\nu} \end{vmatrix} = \begin{vmatrix} -1 \\ 1 \end{vmatrix}$$

5

$$\begin{vmatrix} -10 \\ -1\mu \end{vmatrix}$$

$$\begin{vmatrix} -\nu \\ \mu \end{vmatrix}$$

$$\begin{vmatrix} \mu \\ 1 \end{vmatrix}$$

$$\rightarrow \begin{vmatrix} -10 - \nu + \mu \\ -1\mu + \mu + 1 \end{vmatrix} = \begin{vmatrix} -10 \\ -\mu \end{vmatrix}$$

$$\frac{1}{\mu} \begin{vmatrix} -10 & -1\mu \\ -\nu & \mu \end{vmatrix} = \begin{vmatrix} -10 & -1 \\ -\nu & 1 \end{vmatrix}$$

= solution

10

$$\Rightarrow S = K$$

$$y = \frac{\nu x + 1}{\epsilon x - \mu}$$

$$-x = \frac{\nu y + 1}{-\epsilon y - \mu} \rightarrow y = \frac{-\nu x + 1}{\epsilon x - \mu}$$

$$-y = \frac{\nu x + 1}{\epsilon x - \mu}$$

$$y = \frac{-\nu x + 1}{-\epsilon x - \mu}$$

$$x = \frac{\nu y + 1}{\epsilon y - \mu} \rightarrow y = \frac{\nu x + 1}{\epsilon x - \mu}$$

← x

10 ← y

← x

$$y = \frac{\nu x + 1}{x - \mu}$$

$$\begin{vmatrix} \mu \\ -\nu \end{vmatrix} \Rightarrow \begin{vmatrix} x' = x - \mu \\ y' = y + \nu \end{vmatrix} \Rightarrow \begin{vmatrix} x' + \mu = x \\ y' - \nu = y \end{vmatrix}$$

$$\frac{\nu x' + 1 + \mu}{x' - 1}$$

$$\frac{\nu x' + \mu}{x' - 1}$$

$$y' = \frac{\nu x' + 1}{x' - 1}$$

$$\begin{cases} \nu x + \epsilon y = 2 \\ x - \delta y = 1 \end{cases}$$

$$x(-\mu) \rightarrow \begin{cases} \nu x + \epsilon y = 2 \\ -\nu x + 10y = -1 \end{cases} \rightarrow 19y = -1$$

$$x = -\frac{\begin{vmatrix} 2 & \epsilon \\ -1 & -\delta \end{vmatrix}}{\begin{vmatrix} \nu & \epsilon \\ 1 & -\delta \end{vmatrix}} = \frac{-1\epsilon}{-19} = \frac{1\epsilon}{19}$$

$$y = \frac{\begin{vmatrix} \nu & 2 \\ 1 & -1 \end{vmatrix}}{-19} = \frac{-1}{19}$$

← x

$$y = \frac{-1}{19} / x = \frac{1\epsilon}{19}$$

← x